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Mon 21st
N-S
1st
Paul Q & Janne
59%
2nd
Dino & Tor
54%

E-W
1st
Per And... & Hans V
65%
2nd
Ursula & Kenneth
63%

Wed 23rd
N-S
1st
Paul Q & Terry Q
62%
2nd
Lars B & Tomas
60%

E-W
1st
John M & Bob S
63%
2nd
Gerard & Derek
55%

Fri 25th   
N-S
1st
Martin H & Royd
62%
2nd
Lars B & Janne
62%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
With Hand A you open 1♦ and partner bids 1♠, what now?

♠ A83
♠ 543


♥ Q754
♥ AK986
With Hand B partner opens 1♣ and RHO doubles, 
♦ AK976
♦ 64
what do you bid?
♣ 6

♣ K109
Hand C
Hand D
What do you open with Hand C?
♠ AK862
♠ AKJ109

♥ -

♥ J983
With Hand D you pass as dealer.  Partner opens 1♣ and RHO 
♦ KJ9862
♦ -
doubles, what do you bid?
♣ J9
♣ 8763


Bidding Sequence Quiz
there were a load of sequences that came up this week:
E
1♣
pass
2♥



is the 2♥ jump shift strong or weak?

F
1♣
dbl
2♥



is 2♥ strong or weak?

G
1♣
dbl
1♠



is 1♠ forcing?


H
pass
pass
1♣
dbl



1♠




is 1♠ forcing?
J
1♣
1♦
dbl



does the negative double promise both majors?

K
1♦
2♣
dbl



does the negative double promise both majors?

L
1♦
1NT
2♣



is 2♣ forcing?

M
1♥
2♣
3♥



is 3♥ invitational or weak?

N
1♥
2♣
3♣


what is 3♣?

P
1♥
2♣
3♣
pass



4♥




what is 4♥? strongish or weakish (fast arrival)?

Q
1♦
pass
1♠
pass



2♠




does 2♠ promise four ♠’s or can it be just three?

Both sides make slam





Board 9 from Wednesday 24h Feb
Dealer:
♠ AK862



Table A
North
♥ -

West

North(C)
East

South
E-W vul 
♦ KJ9862

-

1♠
(1)
3♣

4♠
(2)

♣ J9


5♥

5♠

pass

6♠
(3)
dbl
(4)
all pass

  N



♠ Q10
  W
  E
♠ -

Table B
♥ AKQ109876543
  S
♥ J2

West
North(C)
East

South
♦ -



♦ 754

-

1♦
(1)
3♣

3♦
(5)
♣ -



♣ AKQ108654

…  

some more bids 
…
(6)

♠ J97543

 
7♥


dbl
(7)
♥ -





♦ AQ103




♣ 732



Table A:
(1)
What did you open with this North hand C in this week’s quiz? This player chose 1♠.


(2)
4♥ is presumably a splinter here but South considered the hand not strong enough.

(3)
This was not an ‘advance sacrifice’ – South thought that 6♠ would make on the bidding.

(4)
Of course you are always on a guess with these wild hands but I am not sure that this double is sound. It is presumably a Lightner double asking for an unusual lead – but even if you get a ♦ lead and ruff you can be 100% sure that South is void in ♥’s. You want partner to lead a minor suit ace if he has one – but how do you convey this message? If you can’t, perhaps it’s best to ‘save’ in 7♥? Maybe it depends upon how sound a player West thinks South is (having bid just 4♠ and then going to 6♠)?
Table B:
(1)
This North chose to open 1♦, which would also be my answer to question C, but events took a turn for the worse.

(5)
South chose to support ♦’s rather than bid the ♠ suit at the three level… 

(6)
… I’m not sure exactly what was bid now, but West eventually bid 7♥…
(7)
… and with ♠’s never being mentioned North reasonably doubled.

And what happened? Just about everything, with 6♠* making by North and 7♥* making by West. Note that 7♠ makes by South unless West leads an unlikely trump (ruff a ♥ lead in dummy and throw a ♣ from the South hand and two more ♣’s disappear from the South hand later on the ♦’s), but at least two players did not find this line and made only 12 tricks on a ♥ lead (one of them was in 7♠, so it was costly). A ♠ contract by North makes only 10 tricks if East starts with ♣AK and then shifts to a ♦. 
When RHO doubles – part 1



Board 10 from Monday 21st Feb

Dealer:
♠ 543



West

North(C)
East

South

East
♥ AK986

-


-

pass

1♣
Both vul 
♦ 64

dbl

2♥
(1)
pass

pass
(2)

♣ K109


pass

♠ KQJ6

N
♠ 972


♥ QJ43
W
E
♥ 72

♦ K952
S

♦ QJ1087

♣ 7



♣ 853


♠ A108


♥ 105




♦ A3



♣ AQJ642



(1) What did you bid with this North hand C in this week’s quiz? After a double any suit bid at the two level is weak. The alternatives are 1♥ (forcing) or redouble. 

(2) Assuming that partner is weak.

And what happened? Most N-S pairs were in the easy 3NT game. 

When RHO doubles – part 2



Board 7 from Monday 21st Feb

Dealer:
♠ 54



West

North
East

South(D)

South
♥ Q4

-


-

-

pass
Both vul 
♦ KQ965

pass

1♣
(1)
dbl

1♠
(2)

♣ AK105


pass

pass
(3)
pass

♠ 63

N
♠ Q872


♥ 10762
W
E
♥ AK5

♦ 10743
S

♦ AJ82

♣ QJ9


♣ 42


♠ AKJ109


♥ J983




♦ -



♣ 8763



(1) I mentioned just last week that some do open 1♦ with 4♦’s and 5 ♣’s, but this opening. By an experienced player, is totally beyond my comprehension.

(2) What did you bid with this South hand D in this week’s quiz? 1♠ is generally played as forcing – but by a passed hand? To avoid any confusion South should redouble to show values.
(3) North assumed that South was weak.
And what happened? N-S can make game in ♠’s or NT, but only one pair found it. 


The bottom lines:
· When RHO doubles then there are options with a decent hand, see the website where it is all explained.
Support with three cards?



Board 11 from Monday 21st Feb

Dealer:
♠ QJ92



West

North(A)
East

South

South
♥ J109

-


-

-

pass
Love all 
♦ QJ4

1♦

pass

1♠

pass

♣ QJ7


2♦
(1)
pass

pass
(2)
pass

♠ A83

N
♠ 107654


♥ Q754
W
E
♥ K2

♦ AK976
S

♦ 5

♣ 6



♣ A8543


♠ K


♥ A863




♦ 10832



♣ K1092



(1) What did you bid with this West hand A in this week’s quiz? I expect that most will simply rebid 2♦ but I prefer 2♠. With decent 3-card support for partner’s major and a singleton it’s usually best to support rather than rebid a 5-card suit. It’s true that it may be a 4-3 ♠ fit, but that usually plays well when you can ruff in the short trump hand.

(2) Maybe East should bid 2♠ here (I suspect that most will?) but it’s a misfit and with poor ♠’s East decided to keep the bidding low and passed.

And what happened? 2♦ made but scored badly as most were in ♠’s making between 8 and 10 tricks. 
The bottom lines:

· When opener raises responder’s 1st bid, it does not necessarily guarantee 4-card support.

· I asked a few club members what they would bid at (1). Last year’s top 3 in the Gold Cup all chose 2♠, other top players chose 2♦.

Dave’s Column

West
East


Book Bidding
♠ 1076
♠ A5

West

North
East

South
♥ AJ10
♥ Q98

-


-

1NT

pass
♦ K7
♦ QJ1096

3NT

all pass
♣ QJ1096
♣ AK5
You are East,  declarer in 3NT. South leads the ♠3 (fourth best) to North’s ♠Q. With only two ♠’s you saw no advantage in holding up so won with the ♠A. Then you face the big problem. Should you take the ♥ finesse or knock out the ♦A? Would there have been any advantage in holding up?
Plan the play.
Dave’s Column Answer



Board 10 from Wednesday 23rd Feb
Dealer:
♠ Q942



Book Bidding
East
♥ K75

West

North
East

South
both vul 
♦ 543

-


-

1NT

pass

♣ 743


3NT

all pass
♠ 1076
N
♠ A5


♥ AJ10
W
E
♥ Q98


♦ K7
S
♦ QJ1096


♣ QJ1096


♣ AK5


♠ KJ83

 
♥ 6432


♦ A82
 

♣ 82

 

South leads the ♠3 (fourth best) to North’s ♠Q. With only two ♠’s East saw no advantage in holding up so he won with his ♠A. Then he faced his big problem. Should he take the ♥ finesse or knock out the ♦A? Would there have been any advantage in holding up?
When the hand was first played East was afraid of losing the lead and so took the ♥ finesse. When it lost the contract was one down.

He would have done better to play on ♦’s and hope the ♠’s split 4-4. How does East discover how the ♠’s split? He must duck the first trick. When East wins with his ♠Q and returns the ♠2 declarer knows that ♠’s are 4-4.

With the ♠’s known to behave declarer has an easy route to game by immediately playing on ♦’s (do not run the ♣’s first as you then have no entry to hand when the ♦K is ducked, as one declarer at the Pattaya bridge club discovered). 
And what happened at the Pattaya bridge club? 3NT= three times, 3NT-1 five times, 3♣=. 
Dave’s  2nd Column



North
South
West 

North

East

South

♠ 86
♠ Q1093

 -


-


-

2NT

♥ 876
♥ AK

 pass
3NT

all pass

♦ KQ965
♦ AJ7
 

♣ 952
♣ AQJ6
You are South, declarer in 3NT. West leads the ♥J, plan the play at pairs, where overticks are important.

Dave’s 2nd Column Answer




Board 11 from Wednesday 23rd  Feb
Dealer:
♠ 86



possible bidding
South
♥ 876

West

North
East

South
Love all 
♦ KQ965

-


-

-

2NT

♣ 952


pass

3NT

all pass
♠ AJ72
N
♠ K54


♥ J10
W
E
♥ Q95432


♦ 10842
S
♦ 3
 

♣ K104


♣ 873
 

♠ Q1093

 

♥ AK

 
♥J led, plan the play for maximum tricks.
♦ AJ7
 

♣ AQJ6



The secret of getting the vital extra trick is to take the ♣ finesse. But entries to dummy are short and so declarer should lead his ♦J and overtake when West follows. Then take the ♣ finesse.
And what happened at the Pattaya bridge club? 3NT+1 once, 3NT= six times and 2NT+3.
Bidding Quiz Answers
Hand A:
1♠. I realize that many believe that this promises 4-card support, but it does not. It may be a Moysian 4-3 ♠ fit but even so that usually plays well with a singleton in the short trump hand; 2♠ is better than re-bidding a 5-card ♦ suit in my opinion (and perhaps more importantly, in HansV’s and Paul Q’s opinion). 

Hand B:
1♥ or double. 1♥ is best as long as you know that partner knows that it is forcing. If not sure, redouble to show 9+ points. 2♥ is wrong as that is a weak bid after a double (regardless of how you play jump shifts without interference).

Hand C:
1♦, and then bids ♠’s twice to show the shape. I prefer this to a 1♠ opening.

Hand D:
redouble. If you were not a passed hand then you could bid 1♠, but having already passed it’s better to redouble now to show a good hand and then bid the ♠’s.
Bidding Sequence Quiz
E
1♣
pass
2♥


This is up to partnership agreement. Strong is ‘standard’ but most at our club play a weak jump shift (less than 6 HCP)

F
1♣
dbl
2♥


The 2♥ jump after a double is generally played as weak…
G
1♣
dbl
1♠


… but a new suit at the one level is forcing …


H
pass
pass
1♣
dbl



1♠




… but not by a passed hand.
J
1♣
1♦
dbl



I play this as exactly 4-4 in the majors…
K
1♦
2♣
dbl


… but at the two level it only guarantees one major.
L
1♦
1NT
2♣


No, 2♣ is weak, to play. With a good hand, double.
M
1♥
2♣
3♥


Most play this as pre-emptive (but I believe that the Swedes play it as invitational)…
N
1♥
2♣
3♣


… if 3♥ is weak then 3♣ shows a sound raise to 3♥ or better...
P
1♥
2♣
3♣
pass

… as 3♣ only promises invitational values the sequence is

4♥



not game forcing and so fast arrival does not apply. So 4♥ shows a decent hand accepting the game invitation but no slam interest (otherwise cuebid).
Q
1♦
pass
1♠
pass



2♠



1♠ can be just three card support. Hand A is typical.
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